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N.B. : (1) Question no. 1 is compulsory.
(2) Attempt any 3 from the remaining 5 question
(3) Figures on the right indicate full marks.
(4) Assume suitable data, wherever necessary.

W)
1. Solve any four :— 20°
(a) Find voltage V_ by nodal analysis.
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(c) Draw the dual network for circuit shown.
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(d) Inthe network steady state is reached with the switch open. At t = 0 switch

is closed. Determine V (0%) and V,(0") . T
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- (e)  Test whether polynon;&;fi’(s) =85+ §* + S is Hurwitz.
63 Determine pnles os of the impedance function Z(s) in network
: shown.
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2. (a) Fugﬂawurk shown, determine v(t) when input is :

(i) Impulse function
Jg: (ii). Unit step 5
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™ (i11) i(t) = 4e™ u(t)
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(b) Steady state is reached with switch open. - 10 -
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At t = 0 switch is closed. Determine i, (0%), i,(0*) , E:l(o*) s d—:(o*") X
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3. (a) For the network shown, write down tieset m&t;'&?"and obtain the network 10
equilibrium equation in matrix form using KVL. Calgculate loop currents.
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(b) Determine A%@g'_ﬁﬂmétws for the network shown. 10
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4. (a) Determine voltages V, and V, using superposition theorem.
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(b) Realize .t@zigiven function for Foster I and Foster II forms.
(j“ e 2(52 +1)(s2 +9)
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6. () Test whether F(s)=> 3 - 5 ® T272 is positive real function. 10
s +8 " +s+1 :
(b) Find the voltage across 5C2 resistor using mesh analysis. 2 10
)5-66 L 4

50 ,0°V

b
i)
_/
-4
L

T
4

=
GN-Con.:11268-14.

2

L

i
e
St

5



